Soustraction (H)

Calculez la différence.

87 5 546 4537 4475 340

— 43 - 3 —_ 80 —_333 —1074 —_ 23
918 1246 29 33 272 50

- 25 — 7 —_ 13 - 8 - 3 —_ 2
714 418 82 440 83 9

- 37 — 62 —_ 52 — 414 — 8 —_ 6
703 30 889 5817 1 39

— 55 - 6 — 47 — 77 — 1 —_30
6248 90 626 3741 3282 4853
-3669 — 4 — 19 — 709 — 514 —_ 2
4197 383 733 313 9484 9564
— 13 - 92 — 37 —_ 1 8734 —_127
466 3013 7487 804 4331 7741

- 3 — 2 — 893 — 132 — 334 —_313
7446 836 3049 5031 799 468
—5463 —_ 9 —_ 60 — 499 —_ 33 —_ 19
5765 9 998 862 1730 32
- 182 - 7 —407 — 1 — 9 — 6
4954 3389 8 395 328 4676
- 3 =514 - 3 —292 — 22 —_ 4

14 7603 4727 6685

— 4 5 —_111 —_ 57
1148 89 539 29
— 28 24 — 9 — 3
797 1506 4392 3734

—_ 82 99 —3452 —_ 43
234 5778 31 57

— 7 4 - 8 — 8
6956 7365 8 6282
—5877 68 — 8 —_640
4699 927 97 3464
—_ 97 820 —_ 63 —_672
730 334 19 785

- 7 9 — 8 —_55
8086 29 6236 146
—_147 9 —4874 —_ &9
836 66 37 4082

—_ 76 9 — 3 —_502
3884 45 4260 791
—_491 2 — 0 —_ 3
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Soustraction (H) Solutions

Calculez la différence.

87 5 546 4537 4475 340 14 7603 4727 6685

— 43 -3 —_ 80 —-333 —-1014 —-_23 —_ 4 — 5 —_111 —_ 57
44 2 466 4204 3401 317 10 7598 4616 6628
918 1246 29 38 272 50 1148 89 539 29

- 25 -7 - 13 - 8§ -3 -2 — 28 — 24 — 9 — 3
893 1239 16 30 269 48 1120 65 530 26
714 418 82 440 83 9 797 1506 4392 3734

— 37 —_ 62 —_ 52 — 414 —
677 356 30 26 7
703 30 889 5817

— 6 —_ 82 —_ 99 3452 —_ 43
3 715 1407 940 3691
39 234 5778 31 57

W == Ctioo

— 55 —_ 6 —_ 47 —_T7 — - 30 -7 — 34 — 8 — 8
648 24 842 5740 5 227 5744 23 49
6248 90 626 3741 3282 4853 6956 7365 8 6282
-3669 — 4 — 19 — 709 — 514 —_ 2 —5H877 —_ 68 —_ 8 —_640
2579 86 607 3032 2768 4851 1079 7297 0 5642
4197 383 733 313 9484 9564 4699 927 97 3464
- 13 - 92 — 37 — 1 —=8i34 —_127 —_97 — 820 —_63 —_672

4184 291 696 312 70 9437 4602 107 34 2792

466 3013 7487 804 4331 7741 730 334 19 785
- 3 -2 —R893 —132 —-334 —-313 —_ 7 —_ 9 — 8 —_55
463 3011 6594 672 3997 7428 723 325 11 730
7446 836 3049 5031 799 468 8086 29 6236 146

—5463 — 9 — 60 —499 — 33 —_19 — 147 — 9 —48714 —_ &9
1983 827 2989 4532 766 449 7939 o0 1362 57
5765 9 998 862 1730 32 886 66 37 4082

- 182 -7 —-407 -1 -9 — 6 —_ 16 — 9 — 3 —_502
5583 2 591 s61 1721 76 810 57 34 3580
4954 3389 8 395 328 4676 3884 45 4260 791

-3 =514 - 3 —-292 - 22 — 4 —491 — 2 — 70 —_ 3
4951 2875 5 63 306 4672 3393 43 4190 788
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